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1-  1- Number of methods to find square root of an algebraic expression is SR EILE S KUMEA 1 1
3 (D) 2 (G 5 (B 1 (A
2- The solution setof x> -9=0 is cer S ¥ %920 2
{3} (D) {£3} (0 £9} () {9} @
3- An irrational number that contains radical sign is called | _+r19(x =L L;lj'? Sk JI’L/{UQ -3
surd 48 (B) mixed surd !ﬁ;u’i%:t"' (A)
natural number JA;JJ;’ (D} rational number wJ‘l’t (C)
4- The solution setof [x-3}=5 is eer S ¥ |x-3|=5 4
{-8.2} (D) {8,2} (C) {-8,~2} (B) {8,-2} (A)
5. The co-ordinates of the origin are Sl g
(0. 1) (D) 0,0 (© (1,0 (B) 1,1 A
8- The magnitude of straight angle is o Lyt A Jﬁ,u 6
360° (D) 180° (C) 60° (B) 90° (A)
7- The concept of matrix was given by B T
Dr. Abdus Salam r‘LLJLI,-’ flj (B) Musa Al-Khawarzime u');lﬂifff (A)
Pythagoras 2. (D) Arther Cayley &L 4T (C)
8- The number of altitudes in a triangle is s Lo 2k LT B
4 (D) 3 (C) 2 (B) 1 (A
- if x - a is a factor of P(x), then P(a)="7? by P(@) ixd /7 ¢ P(x) cx-a Ji.g
a (D} -a (C) 1 (B) 0 (A)
10- Quadratic equation is written as _Q.CC b WS zists S _10
ax+bx2+¢c=0 (D) a+bx+cx?=0 (C) ax?+bx+c=0 (B) a’x?+bx+c=0 (A
11- Volume of a right circular cylinder is ,.q; by ,; § ik Gt $f T 11
%mg ©) 1?h () Sw’h ) So’h
12- a®-3aba-by-b>= ... | a>-3abfa-b)-b2=......... -12
(a-b)° (D) a’- b’ (©) (a+b)° (B) a’+b> (A)
13- A cubic polynomial is of degree -t 0§ (?;,?}u,.» -13
3 D) 2 (C 1 (B) 0 (A
12- 1f Al= A, then Als called et ATn A=A S 14
skew-symmetric matrix S JEs (B) symmetric matrix /¢ JE (A)
square matrix 5./ (D) transpose 2 (C)
15- Any value which makes the equation a true statement is -?Gw’:‘; 3 et ern S et r et =18
constant & (D) inequality =iied (C) solution f (B) equation .=lsls (A)
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2- Write short answers to any SIX questions: - (2x6=12)
xz'_ y2
i Reduce the expression to the lowest term
3y-3x

ii- Define proper rational expression.
fii- I P(x) =4x3 + 3x2 + 5x + 1, then find P(1)
iv- Factorize Sym+15yn+2zm +6zn
v- Resolve into factors ¢2 + &bc + 9b2 — 16x2
vi- Factorize: x3-27a3
vii- Find H.C.F by factorization 8xy2z3, 12x2y2z2
viii- Define Least Common Multiple (L.C.M)
ix- Find L.C.M by factorization 3x2y2, 2xyz
3- Write short answers to any SIX questions:
i~ Define transposition.
|x[=9

vx—1

ii- Solve:

iii- Solve: =10

-
V- Factorize: 2X = . F 3

v- Factorize: 5x = x2 +6

vi- Write down the names of two methods of solving
quadratic equation.

vii- Define symmetric matrix.

T

viii- Find the product of {

. & 1l x (e B
ix- Find A-B, when A = and B =| B
y 4| 13 b
4- Write short answers to any SIX questions: {(2x6=12)
i- Define reflex angle.

ii- Write down the equation for the given triangle
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and soive it:

iii- Define circle.
iv- Define median of a triangle.
v- Draw an equilateral triangie with length of each side 4 ¢m,
vi- Define a sphere. '
vii- The diagonal of a square is 14 ¢m. Find its area.
viii- Define origin. -
ix- Find distance between the pair of paints (2, 1) and (-4, 3)
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- x2-36 " x-6
Simplify: 5 H—
Pl LR

Factorize:  x*+64

Find L.C.M by factorization:

3 6 4 0

x3+y , 34_3(4- X ¥y
1
Solve: 1(2 x+3)<(7-4x)
Solve 6x2 - 19x - 7 =0 by using factorization.

Construct a rectangle with sides 10 cm and 6 cm.

Use Cramer’s rule to soive the foliowing
finear equatins:

x+3y=6 ; 2x+y=4

|H\—(2 ¥ i +
_Ll 5 an =13 4 ,then

verify that (A + B)t = Al+ B!

The hypotenuse of a right triangle is 25 cm, if one of the

side is of length 24 cm. Find the length of the other side.

Show that the points A(-2, 11), B(-6, -3) and C(4, -9)

are of scalene triangle.
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1 1- For each number 'x' the absolute vaiue of x is denoted by

-x (D) £z (o
2- L.CM. of 12p3¢2, 8p2 is
24pq (D) 24p%42 (C)
3- The co-ordinates of the origin are
(0. 0) (D) (1,1 (C)

4- The angle bisectors of a triangle are
collinear 7 (B)
perpendicular /22T (D)

5 (AY=2
A (D) -A (C)
6- Factorization of 2x2 - 3x is
x(2x - 3) (D) 2x(x - 3) (C)
7- a®-3aba-b)-bd= ... ..
(a-b)* (D) a+b)® (C)
8-If x+1=y, then X -~ y
XEY O XY (©
i
9- ;aE &
U )
|
amn (D) a™ (C)
10- Volume of a right circular cylinder is
4 ﬂl’zh
—Ir
3™ O 5= (©
11- %+ 2x+1=0 has the solution
{0} (D) =1} (©)
12- A quadratic polynomial is of degree
2 (D) -2 (C)
13- In matrices (AB)™ = 7
A+ B (D) BA" (€

14- Factorization of (x+3)°-4 is

(x-)x-5) (D) (x +1)(x + 5) (C)
15- An angle containing more that 180° and less

than 360° is called

obtuseangle .25 (B)
acute angle ..k (D)
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0.1 (B (1.0) (A)

S Lot Lyh Leds 4
non-concurrent &5 (,-f (A)
concurrent £, L5 {1 (C)

@aht=2 5
A2 (B AT ()
- iff”tf 2x2 - 3x -6
x(x - 3) (B) 2(x-3) (A)
a®-3ab@a-b)~bd= .. .. .7
a’l-b® (B) a®+p% (A)
b y #x x+1 =y A -8
X>Y (B X=Y (A
4 l m
a’ = g T
m n
an B qm A
-a by f? 82k Sa Ef i 10
4 o 2
57“’ (B) nr*h (A
2 S ¥ x242x+1=0 .11
{1} (B) {-1,1} &)
- 20 ¥ ;Z:/gf&.u 12
4 (B) 1 (A)
Ay '=7 &l 13
A8 (B) B'a (&)

e fd x+32%-4_14
(x-1{(x+5) (A

reflex angle ,ﬂigf: A
straightangle £ 4 (C)
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2- Write short answers to any SIX questions:
i- Define pure surd.

4-45

ii- Rationalize the denominator

S5¢c-5d
Wi~ Simplify:
¢ — d2
iv- Factorize; a%+a-3a2- 3

v- Define remainder theorem.

27x3 +1
vii- Find the square root of 49x? + 112xy + 64y by

vi- Factorize;

factorization method.
viii- Find the L.C.M. by factorization 2ab, 3ab, 4ac

ix- Find the H.C.F. of abxy, aZbc by factorization.

3- Write short answers to any SIX questions: (2x6=
i~ Solve: Zx +1 =
X+3
i- Solve:  f2x—1=5
jii- Solve: [x-~3|=5

iv- Solve by completing square method x2 + 6x = 2
v- Solve by factorization 2x2+ 15x - 8 = 0

vi- Solve: (k- 3)° =4
vii- Define row matrix.

1 2] [—1
Vill- If A = . B=
!:3 -2 L 4

d

ix- Define non-singular matrix.
4- Write short answers to any SIX questions;

i- Define vertical angies.
ii- Define congruent triangles.
iii- Define concyclic points and draw their diagram.
iv- Define altitude of a triangle.
v- Draw an equilateral triangle with length of each side 6 cm.
vi- The sides of a right angle triangle are 5cm and 12 cm.
Find the hypotenuse.
vii- Describe phythagoras theorem and write its formula.
viii- Describe collinear points with example.

ix- Find the distance between pair of points (2,1) and (-4, 3)
(i!JJJ)
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5. (a) f abtbctca=s 41 and a+b+c=6, then find
the value of a2 +b%+¢?
(b) If P(x)= 353 + kx - 26 is divided by x -2, then

find 'k' if remainder is 0.

6- (a) Find L.C. M. by factonzatlon method
2
x2-y%), -y, ®-y®)

(b) Solve: %_l = .X_t?.’ > x+1 4

3 4
7. (a) Solve x*-10x-3=0 by completing square method.
(b) Draw an equilateral triangie each of whose side

is 5.3 cm. Drawits medians.

8- (a) Find W, X, V.2 such that;
w X r3 0 "2 1
-+ =
y iz L—l S L6 -3
(b) Solve the following set of equations, using the
matrix inversion method:
3x-4y =7
5x -7y =12
9- (a) Find the radius of the cylinder with
volume 12320 cm® and height 20 cm.
{b) Show that A4, -2), B(-2, 4) and C(5, 5) are

vertices of an isosceles triangle.
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